

PART #	DESCRIPTION	РНОТО	SPEC	INNER PACK	MASTER PACK	UN S/
11-20001			PINK - 18G	100 bags per box (100 pieces per bag)		BAG
11-20002	PREBENT NEEDLE TIP, 1/2"		YELLOW - 20G			
11-20003			BLACK - 19G		6 boxes per case	
11-20007			BLUE - 25G			
11-40001	- MICRO BRUSH	-	REG	4 drums/box (100	20 boxes/case	B
11-40002			FINE	pieces per drum)		
12-10001-1			#1	12 per bag	25 bags/case	
12-10001-2			#2	12 per bag	30 bags/case	
12-10001-3			#3	12 per bag	30 bags/case	
12-10001-4			#4	12 per bag	30 bags/case	1
12-10001-5		Cart i	#5	12 per bag	35 bags/case	
12-10001-6	IMPRESSION TRAY		#6	12 per bag	40 bags/case	
12-10001-7			#7	20 per bag	40 bags/case	
12-10001-8			#8	20 per bag	45 bags/case	
12-10001-9			#9	20 per bag	45 bags/case	
12-10001-10			#10	20 per bag	30 bags/case	
11-30033			2.5" X 10"	500 per box	36 boxes per case	
11-30034	X-RAY SLEEVE DIGITAL		1-3/8" X 8"	500 per box	36 boxes per case	e l
11-30035			1-5/8" X 8"	500 per box	36 boxes per case	
12 10022			YELLOW INTERORAL			
12-10022	- TIP		TIP	100 pieces per bag	100 bags per case	
42 40022			CLEAR SMALL			
12-10023			OPENING TIP	100 pieces per bag	100 bags per case	
164-001		Contraction of the	YELLOW	48 pieces per bag	50 bags per case	
164-003	TIP - PLASTIC		GREEN	48 pieces per bag	50 bags per case	- <u>E</u>
12-10004-A			ANTERIOR	35 pieces per box	20 boxes per case	
12-10004-FA	-		FULL ARCH	30 pieces per box	20 boxes per case	
12-10004-Q	BITE TRAY - NYLON MESH		QUADRANT	35 pieces per box	20 boxes per case	Ē
12-10004-P	-		POSTERIOR	50 pieces per box	20 boxes per case	
12-10005-FA			FULL ARCH	30 pieces per box	20 boxes per case	
12-10005-A		A Street T	ANTERIOR	35 pieces per box	20 boxes per case	
12-10005-Q	BITE TRAY - NON-WOVEN MESH		QUADRANT	35 pieces per box	20 boxes per case	- <u>-</u>
12-10005-P	-		POSTERIOR		20 boxes per case	
1698	High Volume Evacuator Tips Emerald brand evacuator tips are designed for durability, function, and patient comfort. A key item in the dental disposable market, our evacuator tips are latex free and fit all standard HVE valves. Features include vented end and soft end. White for easy identification. PROUDLY MADE IN THE USA			100 tips per bag	10 bags per case = 1,000 tips per case	- C



PART #	DESCRIPTION	рното	SPEC	INNER PACK	MASTER PACK	UNIT OF SALE
1319 Blue	Dental Bibs/Towels Made of 2-ply paper and 1-ply poly, our soft, absorbent dental bibs provide convenient protection against contamination.		13" x 18"		500 bibs per case	CASE
851226BLU Blue 851227Pl Pink 851225WHR White 851222LAV Lavender 851222BGRY Gray	Paper Tray Covers The improved moisture resistance of these tray covers prevents liquid seepage and guarantees maximum hygiene. Manufactured with high quality paper stock, our covers are available now in blue, pink, white, gray, and lavender.		Bulk Packaged		1,000 tray covers per case	<u>CASE</u>
RBA508 MWC508	Lock Top Tray Sleeves - Clear		10.5" x 14" 11 5/8" X 16"	500 sleeves per box	4 boxes of 500 sleeves per case = 2000 sleeves	<u>BOX</u>
MPCF500001 Blue MPCF500003 Silver Grey MPCF500005 Dusty Rose MPCF500007 White MPCF5000013 Purple	Dental Cups - 5 oz./148 ml These 5 ounce cups owe their improved strength to a double coating and superior grip control. The special "rolled lip" design guarantees greater comfort and ease of use. Cups are available in blue, silver grey, dusty rose, white, and purple.		5 oz	100 cups per bag	10 bags of 100 cups per case = 1,000 cups	<u>CASE</u>
UBF001 Blue	Universal Barrier Film Perfect for use in areas that are difficult to clean, disinfect or sterilize. Sheets are easy to apply and easy to remove, Nonstick edges leave behind no residue.		.05mm, 4x6 Inch sheets	1,200 sheets per roll	8 rolls per case	<u>CASE</u>
UBF002 Clear						
UBF003 Blue - Bulk UBF004 Clear - Bulk						
AW507	Air-Water Syringe Sleeve		2 1/2" x 10" 0.02mm	500 pcs per box	20 boxes per case = 10,000 pieces per case	<u>BOX</u>
AW508	Air-Water Syringe Tip Full plastic, disposable tip reduces the potential for cross-contamination.		Blue Core Only	250 pcs per bag	250 PC/Bag. 6 Bags/Box- 12 Boxes = 1500 pcs per case	<u>BOX</u>
XR505	X-Ray Head Sleeve Designed to fit Most X-Ray heads. Easily applied and removed		15" x 26", thickness, 0.02mm	250 pcs per box	4 boxes per case = 1,000 pcs per case	<u>BOX</u>
CC505	Half Chair Sleeve Designed for ease of use and maximum protection	11	24" x 27 1/2", thickness, 0.017mm	250 pcs per box	3 boxes per case = 750 pcs per case	<u>BOX</u>
FC505	Full Chair Sleeve Durable and easy to use		29" x 80", thickness 0.0134mm	125 pcs per box	3 boxes per case = 375 pcs per case	<u>BOX</u>



PART #	DESCRIPTION	рното	SPEC	INNER PACK	MASTER PACK	UNIT OF SALE
1033 - Firm Tip	Prophy Angle		Firm Tip, 105∘ angle, 0.6mm 1pc/bg	100 pcs per box	10 boxes per case = 1000 pcs per case	<u>CASE</u>
9302 - Soft Tip	Prophy Angle		<mark>Soft Tip</mark> , 105∘ angle, 0.6mm 1pc/bg	100 pcs per box	10 boxes per case = 1000 pcs per case	<u>CASE</u>
2506		VW/W	Multicolor Core, Clear Tip		10 bags per case = 1000 pieces per case	
2507	Saliva Ejector		Multicolor Core, Clear Tip			CASE
2508	Pliable and minimally intrusive		White Core, White Tip			<u>CASE</u>
2504			Clear Core, Blue Tip			
Sterilization Pouc	hes (priced per box)		·			
214234	Emerald Medical Sterilization Pouches		2 1/4" x 2 3/4"	200 pouches per box	60 boxes per case = 12,000 per case	BOX
2349			2 3/4" x 9"	200 pouches per box	20 boxes per case = 4,000 per case	<u>BOX</u>
31210			3 1/2" x 9"	200 pouches per box	20 boxes per case = 4,000 per case	<u>BOX</u>
312514	temperature is reached. They are made with self-seal adhesive strips and triple-sealed seams to keep out contaminants and maintain the sealed pouch within.		3 1/2" x 5 1/4"	200 pouches per box	20 boxes per case = 4,000 per case	BOX
51411			5 1/4" x 10"	200 pouches per box	15 boxes per case = 3,000 per case	BOX
6110			2 1/4" x 4"	200 pouches per box	60 boxes per case = 12,000 per case	<u>BOX</u>
Gauze Sponges, N	Non-Sterile Woven					
2285	5 Non-Sterile Woven Gauze Sponges		2" X 2" 8 ply	200 sponges per sleeve	25 sleeves of 200 = 5,000 sponges per case	<u>CASE</u>
2288			2" x 2" 8 ply cotton filled	200 sponges per sleeve	25 sleeves of 200 = 5,000 sponges per case	<u>CASE</u>
Gauze Sponges &	Cotton Rolls, Non-Woven & Non-Sterile					
2284	4 Non-Sterile Non-Woven Gauze Sponges	22	2" X 2" 4-ply	200 sponges per sleeve	25 sleeves of 200 = 5,000 sponges per case	<u>CASE</u>
4440			4" x 4" 4-ply	200 sponges per sleeve	10 sleeves of 200 = 2,000 sponges per case	<u>CASE</u>
CR2500	Cotton Rolls, Non-Sterile			2,000 rolls per box	12 boxes per case = 24,000 per case	BOX



PART #	DESCRIPTION	РНОТО	SPEC	INNER PACK	MASTER PACK	UNIT C
aboratory Coats						SAL
3851 Blue Medium 3852 Blue Large 3853 Blue X-Large 3854 Blue XX-Large 3855 Blue XXX-Large	Dark Blue Laboratory Coats Our dark blue Laboratory Coats are designed with an elastic wristband and 4-snap frontal closure for comfort. Manufactured to a 32 gram basis weights and without pockets. Available in a wide range of sizes.			10 coats per bag	3 bags per case = 30 coats per case	<u>CASE</u>
3857 White Medium 3858 White Large 3859 White X-Large 3860 White XX-Large 3861 White XXX-Large				10 coats per bag	3 bags per case = 30 coats per case	CASE
owns - Isolation	& Impervious					
1G8041B	Medical Fluid Resistant Gown These lightweight, fluid resistant gowns are both flexible and durable. Ties at the waist and collar guarantee a secure fit for all body types. Full length. One size fits all. Packaging: 5 boxes of 10 gowns per case. (50 gowns per case)			10 gowns per box	5 boxes per case = 50 gowns per case	<u>CASE</u>
ce Packs	· · · · · · · · · · · · · · · · · · ·				•	
ICE45	4"x 5" Ice Packs				24 pieces per case	CASE
lasks					•	•
2900 Blue 2901 White 2902 Pink 2903 Lavender	Level 2 ASTM Surgical Mask Emerald brand surgical procedure masks with 98.6% BFE filtration are designed for durability, function, and user comfort. A key item in the dental and nail disposables markets, our new ear loop masks are free of fiberglass and approved for medical use. These lightweight, pleated masks also feature excellent breathability and an adaptable nose bar. Available in white, blue, pink, and lavender. One size fits all.			50 masks per box	10 boxes per case = 500 masks per case	CASE
litrile Gloves					•	
5799 X-Small 5800 Small 5801 Medium 5802 Large 5803 X-Large	Emerald Exam Nitrile Powder-Free 3 Mil Emerald Nitrile Powder-Free Exam glove provides outstanding comfort at an outstanding price. This latex free, powder-free textured glove is best for tactile sensitivity. It guards against hand fatigue and has superior tensile strength. It is chemical resistant and unrivaled against blood borne pathogens and other body fluids. Emerald Nitrile gloves also sport a beaded cuff for easy donning.	Emerald MIRLE Month and Month a		100 gloves per box	10 boxes per case = 1,000 gloves per case	CASE
5400 X-Small 5401 Small 5402 Medium 5403 Large 5404 X-Large	Emerald Touch 200 Powder-Free Exam 3 Mil Emerald Touch 200 nitrile exam gloves are latex-free, powder-free, comfortable and super soft! Manufactured with special modulus technology, Touch 200 nitrile is built to stretch and extend better than most disposable gloves. With their 3 mil thickness, textured finger tips and beaded cuffs, these gloves offer the user protection, value and breathability. These medical grade gloves are ideal for dental use, laboratory settings, or other general tasks. Our most affordable exam grade nitrile gloves!	TOUCH 200 DITALE		200 gloves per box	10 boxes per case = 2,000 gloves per box	CASI



PART #	DESCRIPTION	рното	SPEC	INNER PACK	MASTER PACK	UNIT OF SALE
1250 X-Small 1251 Small 1252 Medium 1253 Large 1254 X-Large	Emerald Nitroflex Exam 300ct Powder-Free 3 Mil Emerald Nitroflex nitrile exam gloves are latex & powder-free and provide protection from Fentanyl and multiple chemotherapy agents. Featuring a 300 count box, textured finger tips and a beaded cuff, these gloves offer supreme protection at a great value! Nitroflex is medical grade and excellent for the medical/healthcare field, EMT, law enforcement, and industrial users. When you need strong barrier protection to prevent exposure to chemicals, Nitroflex will keep you safe.	NHROHI FX POWDER FREE NITRILE EXAM QLOVE Low Dormatilie Potential Comments of the potential Comm		300 gloves per box	10 boxes per case = 3,000 gloves per box	<u>CASE</u>
EN500 X-Small EN501 Small EN502 Medium EN503 Large EN504 X-Large	Emerald Nitrile Powder-Free Virtual Skin Exam 4 Mil The Emerald Nitrile Powder-Free Virtual Skin exam glove uses Soft Stretch Modulus Technology to provide a second-skin comfort level. This latex-free, powder-free, textured glove offers the very best in tactile sensitivity, chemical resistance, and blood-borne pathogen protection. The Emerald Nitrile Powder-Free Virtual Skin exam glove reduces hand fatigue and has superior tensile strength.	POWDER PRE		100 gloves per box	10 boxes per case = 1,000 gloves per box	<u>CASE</u>
Latex Gloves					·	•
5990 X-Small 5991 Small 5992 Medium 5993 Large 5994 X-Large	Emerald Tex-Grip Powder-Free Latex Exam 5 Mil Professionals who require greater sensitivity for administering medical care or instrument manipulation find fully textured Emerald powder-free latex exam gloves a perfect fit. Powder-free to help reduce the risk of skin irritation, these gloves feature tapered fingertips for greater comfort and advanced processing for easier donning. Emerald Powder-Free Latex Exam Gloves have beaded, tear-resistant cuffs for added performance.	Emeraid Entranse Reserver For any officers		100 gloves per box	10 boxes per case = 1,000 gloves per box	<u>CASE</u>
8311 X-Small 8312 Small 8313 Medium 8314 Large 8315 X-Large	Waterforde Premium Powder-Free Latex Exam 5 Mil Thanks to online polymerization and chlorination, the premium Waterforde powder-free exam latex gloves are ideal for professionals who'll need to wear them for hours each day. The palm area through the fingertip has double-textured grip surface for optimum control. Superior modulus and tactile sensitivity make this the ultimate powder-free latex glove.	Contraction of the second seco		100 gloves per box	10 boxes per case = 1,000 gloves per box	<u>CASE</u>
Vinyl Gloves						
PVE5601 Small PVE5602 Medium PVE5603 Large PVE5604 X-Large	Syntheticare Vinyl Powder-Free Exam 5 Mil Syntheticare powder-free vinyl exam gloves are ideal for any type of medical or general use. The non-latex formula makes these gloves ideal for those who may be allergic to latex. Manufactured to ASTM and FDA standards as a medical device, these soft vinyl gloves are comfortable and have beaded cuff for extra strength and tear resistance.	SvathztiGARE		100 gloves per box	10 boxes per case = 1,000 gloves per box	<u>CASE</u>